
x dy = (1 - yMx . . ...(3)

a2v  a2v  = 0-+-
ax2  ay2

. . ...(4)

.  .  . . .(5)

. . ...(6)

. ...(7)
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ii&d 2 WUthidl  y  = c e2 x ,  c  LgUd1R~~311U7;nl0ll  LihdwalQaun0J

dun7-i  y’- 2y = 0

ial 3-m  y = cx

y/ = ,:zx

z& y/ - 2y = 2ce 2x - 2ce2X  = 0
2x7zWWl  y = ce , t&w&b&dun77  y’ - 2y = 0

%rSuwabsauan~ijuni7  y ’ - 2y = 0

WU&I&I  y = clcoskx  + c2sinkx  t&warwmwiuni7

d2y-
dx2

+ k2y  = 0

7-m y : c coskx + c1 2sinkx

9 q -c ksinkx + c kcoskxdx 1 2

d2y-=2 -clk2coskx  - c2k2sinkx

k&i “k + k2y  = -clk2coskx  - c2k2sink  +
dx2

k2(clcoskx  + c2sinkx)  = 0

ula4jl  y = clcoskx  + c2sinkx rihatnmraohmi7

d2y-
dx2

l k2y = 0
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d2y.--
d⌧2

T:  gcle�3⌧  l k2ezX

L: d2y&luu  - d:v -3x

dX2
+ s-i - 6y = 9cle + 4c2e2X + ( -3cle-3x + 2c2ea  1

-ml” -3x + c2e2x)  = 0

uhwirl y = cle-3x  * c2e2’

dzy dx
.- + dx6x2

- 6y = 0
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m&lilll y(0) = 1 uar y’(0) = 2

7 3 x - h  cl+c
2

=1

uas -3c1  + 2c2  = 2

ihtGhm1m  c. ua::  c 2 Iti 3
1

1 1

2 2

c1 =
1 1

-3 2

= 0
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1 1 d&x 2

dt2
+kx=%

1 . 2  (x2  +  y’)dx + 2xydy  = %

1 . 3
//

Y Y q ⌧

di1 . 4  Ldi+Ri  = E

1.5 y //J
- 3y/ 4.  2y = 8

dw 4- i!(  -& ) + yw = 0

1 . 7  xfy
// )3

+ ( *I’  I4. -y=%

I.,8 & = a2 &
at2 ax:2

1,9 &u  + c&J  a211- +-=@
ax2 ay2  at2

O” n2n
J%(x)  = Z (-1)  x

n=%  (n! 322g
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iiui%  a = x + yy’

umei7  a luolomnl&

tx - (x + yyv + y2

(yJA2  + y2

w-8  y2 = x2 + 2xyy’

iknilyidy$il&kl

= (x + yy’12
=(x+yyf)2

(x - al2 + y2 = a2

GhnihJir4u

⌧2  l y2 - 2a⌧ = 0

I&

x2 2+Y =28
X

tl%l$d&“lY
x(2xdx  + 2ydY)  - (x2 + Y2Mx  = 0

X2

l& (x2 - y2Mx  + 2xydy =0

dx
ac= -WA sintut  + a)

. . ...(4)

. . ...(5)
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d2x-=
dt2

-w2A codwt  + 01)

3induni7 (4)  UB::  (6)  -Jz’ta”

d2x 2-
dt2

+ II) x = 0

. . ...(6)

ti-milL  4
2+cx+4=0

-
3n-l t.rm$iuG~dun77

C(X/ + y) + c
2 =0

b&wm  c f 0

c = -(xy’ + Y)

umdi  c luiSunrrl-Jn&~X

-by + Y)xy  + (w’
2+y)x+4=@

-x2yy/  - xy2 + x3(y/  ,2 + 2x2yy/  + xy2 + 4 =0

x3(  y' j2
2 /

+ x YY +4=0
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1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

x3 - 3x2y  = c

y sin x - xy2  = c

2x y = 1 + cx

x = clccs wt. + c2sin wt; w rLCi?m~~ii~rm~

y = m⌧ l % ; h r%~m,~ii~nn:

y = ax2 + bx + c

y=c
1

+ c2e-4x

y = ⌧2 l cle2⌧  + c2e3X

Y = Cle2xcos  3X + c2e2xsin  3x

Y q cl⌧  + c2eX

10 MA 216



I.

2.

3.

4.

5.

6.

7.

8.

9. .

(Ix -. 2y)dx - xdy = B

y(ms 2; - y )dx + lsin x - zxyldy  = 0

(x.y + 1Mx * x3& L‘ 0
2

d2x 2- -

dt2
+6Jx=0

//
Y + 4Y

/ I: @

//
Y - 5y/ + 6y = 6x

2
- 1Bx + 2

I/
Y - 4y' + 13y = lil

(x - l)Y // /
10. + XY sy=@
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